
1) An amount was increased by 4% to 
$248.96. Find the original amount.

Answer: ____________

2) Simplify 15:50

Answer: ____________

3) 11/4 + 16/9

Answer: ____________

4) $500.00 earning 2% compound 
interest for 4 years.

Answer: ____________

5) Factorise x2 + 6x + 9

Answer: ____________

6) Factorise x2 + 6x + 9

Answer: ____________

7) Find perimeter of 
rectangle having 
sides a = 761 in 
and b = 739 in

Answer: ____________

8)
Find the next three numbers in 
the sequence
9,8,24,23,69,68,204__,__,__

Answer: ____________

9) 33000 ÷ 1000

Answer: ____________

10) 35 x (-32)

Answer: ____________

11) Find area of 
rectangle having 
sides a = 675 cm 
and b = 668 cm

Answer: ____________

12) Round 1.2386 to the nearest 10000

Answer: ____________

13) Find perimeter of 
square having each 
side (s) equals 476 in

Answer: ____________

14) Find area of square 
having each side (s)
equals 696 ft

Answer: ____________

15) Find perimeter of 
rectangle having 
sides a = 929 m 
and b = 550 m

Answer: ____________
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16)

A B = 40
Find the Angle at side A.

Answer: ____________

17) 30000 ÷ 1000

Answer: ____________

18) (2 x 1-7) + (2 x 17)

Answer: ____________

19) 1/9 + 14/14

Answer: ____________

20) 1/9 + 14/14

Answer: ____________

21) 1/9 + 14/14

Answer: ____________

22) Convert the following mixed number 
510/2 to an improper fraction.

Answer: ____________

23) 120.8 + 478.6

Answer: ____________

24) A number was shared in the ratio 
1:26. The smaller share was 46. 
What was the total amount shared?

Answer: ____________

25)

A B = 16
Find the Angle at side A.

Answer: ____________

26) 6/121 of 242

Answer: ____________

27)

'Name the type of angle.

Answer: ____________

28) Round 15.8853159 to the nearest 
10000

Answer: ____________

29) An amount was increased by 7.5% to 
$194.00. Find the original amount.

Answer: ____________

30) An amount was increased by 7.5% to 
$194.00. Find the original amount.

Answer: ____________
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31) 317 + 821

Answer: ____________

32)
29 Find Volume of 
               28       Cylinder

Answer: ____________

33) 3000 ÷ 100

Answer: ____________

34) (-722) ÷ 19

Answer: ____________

35) Decrease 96 by 31%

Answer: ____________

36)
28

Volume of Cone
28

Answer: ____________

37) 616 ÷ (-28)

Answer: ____________

38) 616 ÷ (-28)

Answer: ____________

39)
23 Find Volume of 
                         Hexagonal Pyramid

22
22

Answer: ____________

40) $332.00 earning 6% compound 
interest for 10 years.

Answer: ____________

Total: ___ / 40
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Answers:

1) $239.38 2) 3 : 10 3) 419/36 4) $541.22 5) (x + 3)(x + 3) 6) (x + 3)(x + 3) 7) 3000in

8) 203,609,608, 9) 33 10) 11) 450900cm 12) 1.2386 13) 1904in 14) 484416ft

15) 2958m 16) 140 17) 30 18) 4 19) 11/9 20) 11/9 21) 11/9

22) 10/1 23) 599.4 24) 1242 25) 164 26) 12 27) Right 28) 15.8853

29) $180.47 30) $180.47 31) 1138 32) 71427.250572018 33) 30 34) -38 35) 66.24

36) 22988.080643868 37) -22 38) -22 39) 9640.5947949284 40) $594.56
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